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Each day Paul, who is in third grade, eats lunch at school. He likes only Twinkies (T) and Orange Slice (S), and these provide him a utility of 

Utility = U (T, S) =
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Every day his mother gives him $1 to spend on lunch. Assume that it is possible to purchase fractional amounts of both the goods. 

a. If Twinkies cost $0.10 each and Slice costs $0.25 per cup, what is his budget constraint? Write down the budget equation and draw the budget line. 
b. Where does the budget line intersect (touch) the indifference curve for U =
[image: image2.wmf]10

?

c. Show different combinations of T and S that satisfy the budget constraint, give the corresponding utility value, and verify that the combination of T and S obtained in part b, in fact, maximizes Paul’s utility.
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d. Suppose the school tries to discourage Twinkie consumption by raising the price to $0.40. But Paul’s mother also increases his lunch allowance by $1. Can Paul achieve the same level of utility he received in part b with this extra allowance? What is the new combination of T and S that gives him U =
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?

2

a. A young connoisseur has $60 to spend to build a small wine cellar. She enjoys two vintages in

particular: an expensive 1987 French Bordeaux (Wf) at $20 per bottle and a less expensive 1993

California varietal wine (Wc) priced at $4. How much of each wine should she purchase if her

utility is given by the following function:
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b. When she arrived at the wine store, our young oenologist discovered that the price of the 1987 French Bordeaux had fallen to $10 a bottle because of a decline in the value of the franc. If the price of the California wine remains stable at $4 per bottle, how much of each wine should our friend purchase to maximize utility under the altered conditions? 

c. Draw the demand curve for French Bordeaux. How does change in price of Wf change the

demand for Wc? Are they related goods (substitutes or complements)?

3 

a.      Emily has decided always to spend one-third of her income on clothing.  

i)  What is her income elasticity of clothing demand 

ii) What is her price elasticity of clothing demand 

iii) If Emily’s tastes change and she decides to spend only one-fourth of her income on clothing, how does her demand curve change? Draw a diagram to show the change in demand. What are her income elasticity and price elasticity now? 

b. Two drivers – Tom and Jerry – each drive up to a gas station. Before looking at the price, each places an order. Tom says, “I’d like 10 gallons of gas.” Jerry says, “I’d like $10 worth of gas.” What is each driver’s price elasticity of demand? Draw diagrams of their respective demand curves. 

c. Mary’s Burger is a small firm selling homemade burgers near the university campus. Mary, the shop owner, observed that the demand for her burgers tend to follow a pattern that can be stated as: 
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Where 
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Q

= number of burgers demanded per month, 
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P

= price of a burger in dollars, I = per capita income of the customers in dollars per month and 
[image: image9.wmf]S

P

 = price of a soda 

Given that I = $1000, 
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= $2, 
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= $1, determine 
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at this point. 
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